294 BIOLOGY (231)° = %‘

29.3.1 Biology Paper 1 (231/1) - MANYAM ““N‘:H'-"f

1 (a) . Name the external feature which' ist‘om@en m birds, fish and re;itiies, - (1. marky
(b)  State two characteristics of fungi. ‘ . {2 marks)

2 Name twe benefits ﬂm a parasite &éﬁﬁés from the hést,: ~» o N _ | \ (2 marks)

3 State the functions of the following parts of a light microscope: : (2 marks)
(a)  Objective lens R
(b)  Diephragm. =~ ST e - »

4 {a)  The state during which a seed cannot germinate even when conditions for germination

' are suitable is called ' o

- o ‘ (1 mark)
(b)  The diagram below represents a stage during germination of a seed, o
) . X 4

(i) Name the type of germination illustrated in the diagram. - 7 {1 mark’
{ii) - State the role of the part labelled X during germination of the seed. (2 marks).
5 .-’(a) What is meant by the following terms: : o T
() hybrid vigour; o | (1 mark)
(i) polyploidy? | {1 mark)
(b) - Sbtatc two causes of chromosomal mutations. . . (2 marks)
201

Powered By: www.manyamfranchise.com




- -]

10

(a)

(’b)

(a)

(b)
(a)

)

{a)

(b)
(a)

(b)

The diagram below shows a section throtigh a plant organ.

(1 Name the class of the plant from which the section was obtained. (1 mark)

{ii) (ive a reason for your answer m (a)(1} a’bovc;. _ (1 mark)
State the function of the part labelled F. (1 mark)

.........................................................

Ribosomes (1 mark)
Lysosomes. ( l‘mﬂlfk.l
Pregnancy continues if the E)\«”dr}- {}f an expectant mother is removed after 4 months.
Explan, ‘ {2 marks)
What is the role of the tﬁSfﬂb m xhe mammalian reproductive system?

. .. (2 marks)
Name the causative agents of the following diseases in humans: (2 marks)
() typhoid;

(i)  amoebic dysentery. e

Name the disease in humans caused by Plasmodium falciparum, {1 mark)

(1} What is meant by vestigial structurcs? 1 mark)

{11} . Give an example of a vestigial structurc in human, {1 mark) -

Explain why certain drugs become ineffective in curing a disease afler many years of
use. . (2 marks)
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13 In an experiment the shoot tip of & young tomato p]am was decapitated as Shown in the
diagram below.

(a) - State the expected results after 2 weeks, . : (1 mark)
{b)  Give areason for your answer in {a) db(}\fe ) » (2 marks)

12 The diagram below represents a bone obtained from a mammal

(a)  Name the bone. | | ) ‘ B | (i“mar‘k)
(b)  Name the: |

() bone which articulates with the bone named in (a) above at the u,avﬁy

labelled K; ' (1 mark) .
(i)  joint formed by the two bones, (1 mark)
{c)  State the function of the part labelled J. | (1 mark)
13 {(a) Distinguish between diffusion and active transport. (2 marks)
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- (b)  State one role that is played by osmoszs i

(1) plants; {1 mark)
(i)  animals. ( 1 mark)'
14 - Namea wppon tissue in plants that is not thickened with lignin. - (1 mark)
15 Name the type of movement that occurs within a plant cell. (1 mark)
16  (a) - Name the gaseous exchange surface in-insects. _ (1 mark}
(b} “How is the surface named in (a) above suited to its function? (2 marks)
17 - Explain why plants do not reqixire specialised eicretory organs. (4 marks)
18 Explain how the following factors affect the rate of photosynthesis: o
- (a) Concentration of carbon (iv) oxide’ {1 mark)
(b)  Light intensity. (1 mark)
(3 marks)

19 (2  State three effects of dumping untreated sewage into a river.
(b)  Namec one process that is responsible for loss of energy from one troph;c level to the
next. (1 mark)

Other than nsmg the quadrat, give twe m:tlwds of estimating population of grass.

2 .
(2 marks)

21 Explain what happens in humans when the conccnﬁanon of glucose in the blood decreases
below the normal level. - (4 markc]
22 Explain how the carnassial teeth of a dog are adapted to their ﬁmct;om (2 marks)
‘ (1 mark)

23 State the function of iron in the human body.

24 - Explain how the fellnwing factors determine the dai]yl energy requirement in humans:

(@) = Age . . _ (1 mark) -
(b} Occupation (1 mark) *
(c)  Sex. (1 mark)
Z5  Statc two ways in which aerenchyma tissues in aguatic plants are adapted to their function.
) | -~ {2 marks):
26 How arc the mitochondria adapted to their function? (2 marks}
e State twe ways in which anacrobic respiration is applied in industries. N (2 marks)
28 (a) Stat;: three structural differences between arteries and veins in mammals.
' (3 marks)
{b)  Name a disease that causes thickening and hardening of arteries. {1 mark)
() mark)

29 Explain why the rate of transpiration is reduced when humidity is high.
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29.4.2 Biology Paper 1 (231/2)
SECTION A (40 marks)

Answer ALL the questions in zhis section in the spaces provided.

i When the offspring of purpke and whxte flowered pea plants were crossed, they produced purple

and white ﬁnwered plants in the ratio of 31
Using letter H 10 represent the gene for purple colour,
(a)  State the genotype of:
(1 parents;
{iiy  F, gencration.
{by  Work out the cross between planis in the F, gcncfa_i,km; -

) Account for the.colour of te. ﬂewers in plants ofthe F, gcm:tauom

2 The diagram below represents the lower jaw of a mammal

{#)  Name the mode of nutrition of the mammal whose jaw is shown.

(b) State one structural and one functional difference bctwccn the teeth
labelled J and L.
Structural.

Functional.
(¢} (i)  Name the toothless gap labelled K.
(i)  State the function of the gap named in (c)(i) above.

{d) Name the substance that 15 rcsponsible.for hardening of teeth.
3 (@ (i)  Whatis meant by the term biological control?
()  Givean example of biological control.
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(2 marks)
(1 mark}

(4 marks)

(1 magk)

{1 mark)

© (1 mark)

{1 mark)
(1 mark)

{1 mark)

(].mﬁfk)

{1 mark)}
(1 mark)

Powered By: www.manyamfranchise.com




(b) (i)  What is cutrophication? ) (3 marks)
(it} What are the effects of mlmphicﬁiim? | (3 mérks}

(¢} Name a substance that is responsible for acid rain. {1 mark)

(@ G} Explain the changes that take place in the pupil and iris of a human eye whena

person moves from a dark room to a room with bright light. {3 marks)
{i)  What is the significance of the changes explained in (a) (i) above? {1 mark}
(b)  How docs the human eye obtain nutrients? (3 marks)
(¢)  Explain why images that form on the blindspot are not perceived. (2 marks)
(a)  Explain what happens when a wilting young plant is well watered. (3 marks)

{h)  Name a support tissue in plants thickened with:

(i) cellulose; R ‘ (1 mark)
ity hgnoin B ; {1 mark)
(¢  Give three functions of pectoral and pelvic fins in a fish, (3 marks)

SECTION B (40 marks)

Answer question 6 (¢COmpulsory) and either question 7 or & in the
spaces provided after question 8.

An experiment was carried out 1o investigate the effect of temperature on the rate of a reactior
catalysed by an enzyme. The results are shown in the table below,

Temperature (°C) Rate of reaction in mg of products
per unit time.
5 0.2
10 : ) : 0.5
15 SR 08
20 . L
25 1.3
30 | 2.1
35 3.0
46 ' 3.7
45 | | 34
50 ' ) 2.8
55 2.1
60 _ ' : N |
(b) When was the rate of reaction 2.6 mg of product per unit time? (2 marks}
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{c) Account for the shape of the graph between:

t1) S%C and 40°C (2 marks)
(n A8°C amd 6°C . {3 marksy
{d} Other than temperature name two ways in which (hL rate of reaction between 5°C and
40°C could be increased. (2 marks)
fey (1} Name one digestive enzvme m the human body whtch wmk\ best i acidic
condition. i (1 marky
{i1) How 15 the acidie condition for the cn7yme named in (e)m above attained?
(2 marks)
tH The acidic condition tn {e i) above 15 later neutralised.
(i) - Where does the newtralisation take place? R (1 mark)
(i) Name the substance responsible for neutralisation. ,' (1 mark)
H(m are lk}wcrs adapted 10 wind and insect pollination? (20 marks)
i)cscrlbe thc roie uf the hver in i}omeostams in the lmman body, —— (20 marks)
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29.4.3 Biology Paper 3 (231/3) ;

1 The photographs labelled K. L, M. N and P below are of bones obtamed from a mammal.

For each of the bones K. L and M two views are shown.

View 1 View 2

Bone K

(%

View | View 2
Bone L

3 Bone M

Bone N

Bone P
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(a)

(b

(c)

(d)

ldentity the bones and name the part ot the mammalian body trom which each was
obtained. _ " (5 marks)
Bone Identity of the bone Where found '

K e

.........................................................

S A verrrneeereranenes
N L e bereire e e anene b iseeeesnrrsa e oo s vrvreen s craenee s

Name the parts labelled 1, 2, 3, 4 and 5. (5 marks)

LR R R RN T T T R R LR T L T LT OGN

R R D R R R R L LY P G

Name the bones that-form a joint with bone K at its anterior and posterior end and in
each case name the type of joint they form. . (4 marks)
Anterior end ' ' '
() BODBISY oo e

B Y S T LY LT TRV N PN

(ii) Type of joint

R 4 L e e ey AR A a T SR AN Lk ke SR RE AR K e v E AR A e e M A 18 S E A Y e W e e e

Posterior end
(i) Bone(s)

(i) Typeof Joint i,

State the function of the structure labelled 6 in bone P. (1 mark)
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bemng lested
for

2 You are provided with substances labelled P, QU Xy Y and 7. P and Q are food substances,
while X is dilute hvdrochlonc acid, Y s dilute sodsum bydrogencarbonate and Z 15 Benediet's
solution. Carry out tests to determine the food substance(simn P and 0.

(12 marks)
Foaod
suhstance ‘ - : .
Subdtance Procedure Crhservations Conclusion

210

Powered By: www.manyamfranchise.com




The photographs labelled W, X, Y and Z show <eediings that were grown under different
conditions. Fxamine them

() Labul any three parts of the seedlings in photograph W {3 marks}
{h) (1) Name the type of germination exhibited by the seedhings. (I mark)
() Chve a reason for vour answer in b(1) above.

(I mark}
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(c)

 . (e)

3
o’

| . (nr}

Jﬂcmdmons{ Explam how 1h ;msponse exhibxted by the st:edlmgs in photograph z.

Seeﬂlings in photographs W and X were planted at the same time, ~ﬁ' e

State the conditions under which the seedlings were grown. E (2 marks)
: Seedhngs in photograph W ..... ‘ ,,,,,,,,, SESCUNEIRE RV DRI .
o Sccdlmgs in photograph X ...................... sy ; Hrespreiasssisies

When plants are. grewm in the cﬂndmon named for seedhnga m photugmph W
they exhxbtt a certam phanomenon :

{i) ‘ Namc the phenomenon o Y
State ihe sxgmﬁcancc of the pheaomenon named n dﬁ} ,abev. .

'photogmphs’w and ,

Seedhngs in photog'nphs Y and Z were planted at. ﬂw same. txmebm under dxﬁerent

(2 marks) ‘
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